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Language Teaching Pedagogy: Choose the answer that best fits the given text.
Questions 21-25

21.

22.

“In this approach, the teacher acts as a counselor and a paraphraser, while the learner is

seen as a client and collaborator.” What is this language teaching approach?

(A) The Direct Method

(B) The Silent Way

(C) The Community Language Learning Approach

(D) The Communicative Approach

About the characteristics of Communicative Language Teaching, which statement is NOT

true?

(A) Lessons are more teacher-centered.

(B) Pair work and group work are emphasized.

(C) Proponents of Communicative Language Teaching advocate the use of authentic
materials.

(D)Activities are designed for students to produce meaningful and real communication.
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23.

24.

25.

Which statement is NOT true about language teaching methodologies?

(A) The Audiolingual Method relies heavily on repetition and drills.

(B) In the Communicative Language Teaching classroom, the teacher sets up a situation
that students are likely to encounter in real life.

(C) In The Silent Way, the teacher uses a mixture of silence and gestures to focus students’
attention.

(D) In Task-based Instruction, students work together to develop the aspects of a language
they would like to learn and this approach incorporates translation, transcription, and
recording techniques.

About language teaching methodologies, which is NOT true?

(A)James Asher proposed Total Physical Response.

(B) The Silent Way was created by Caleb Gattegno.

(C) Communicative Approach was proposed by Michael Swan.

(D) David Arthur Wilkins proposed notional syllabuses, showing how language can be
categorized on the basis of notions such as location and time.

An English teacher brings different types of fruits in her classroom to illustrate new

vocabulary. What type of teaching material does she use in her class?

(A) mnemonic (B) realia (C) glossary (D) flashcards

Vocabulary: Choose the word that best fits the given sentence.
Questions 26-35

26.

217.

28.

29.

30.

31.

32.

When the news of terrorists putting bombs in the campus aroused fears among faculties, a

student came out and claimed that it was just a made by his classmate. The two
of them were soon punished for their prank.

(A) deluge (B) hoax (C) jargon (D) prestige

Mr. Brown felt relieved after being informed that the tumor in his body was

(A) benign (B) cursory (C) lucrative (D) pliable

The environment was because the air was full of acid and metallic aerosol
particles.

(A) sanitary (B) mercurial (C) noxious (D) unsoiled

As they spread malicious rumor, the students and their families have been sued for
and defamation of character.

(A) seduction (B) slander (C) strife (D) synthesis
Test scores are not the only of academic achievement.

(A) implementation  (B) initiative (C) yardstick (D) resolution
Attention to illustrations as children become more proficient readers.
(A) edges (B) voids (C) enhances (D) wanes

Language fossilization is not an all-or-nothing phenomenon. Instead, there is considerable
in the extent to which individual learners fossilize.
(A) verification (B) transformation  (C) variation (D) conformation



A 33.
B 34.
D 35.

Members of some immigrant and minority groups are too often by social and
educational practices that limit their opportunities to engage in communication with
people.

(A) marginalized (B) perplexed (C) disposed (D) committed
Mark has a to interrupt others when they’re talking during the school meetings.
(A) barricade (B) propensity (C) sabotage (D) ) viability

At the start of the TV news show, the hostess used headlines to the upcoming
stories.

(A) intervene (B) dawdle (C) resonate (D) encapsulate

I11. Error Correction: Identify the underlined word(s) or phrase that should be
corrected or rewritten.

Questions 36-40

A 36.
A 37.
D 38.
C 39.
D 40.

From that was said at today’s meeting, | believe that the international conference

(A) (B) ©
will be held in France.
(D)
Though boring, the girls decided to stay and watch the remaining portion of the opera at
(A) (B) ©) (D)

Lincoln Center last night.
When the husband stopped talking, his wife finished his sentence for him as though

(A) (B) ©)

she would read his mind.
(D)
In the attempt to control inflation by eliminating social programs, there are ethical
(A) (B)
limits beyond where many economists and politicians are reluctant to go.
©) (D)
Some inner city basketball players may be initially resistant to coaching, but it is
(A) (B) ©)

necessary for them to teaching the fundamentals of the game.

(D)



IV. Cloze Test: Choose the answer that best fits the given text.
Questions 41-45

>
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41.
42.

43.
44,
45.

At least 330 million people are affected by drought in India. Authorities say this
number 41 rise further given that some states with water shortages have not yet
submitted status reports. The drought is taking place as a heat wave extends across much
of India with temperatures crossing 40°C for days now. An 11-year-old girl died of
heatstroke 42 water from a village pump in the western Maharashtra state. She began
__ 43 after returning home and was rushed to hospital, but died next day. Her death
certificate says she died of heatstroke and __ 44 . India is heavily dependent on monsoon
rains, 45 poor for two years in a row. Water availability in India’s 91 reservoirs is at

its lowest in a decade.

(A) is likely to (B) likely to (C) is likely (D) like to

(A) while she collecting (B) while collected

(C) while collecting (D) to collect

(A) vomit (B) vomiting (C) vomited (D) to be vomited
(A) dementia (B) dehydration (C) default (D) decentralization
(A) when are (B) that have been  (C) which have been (D) what have been

V. Reading Comprehension: Choose the best answer to each question.

Questions 46-50

Opera singers and dry air don't get along. In fact, the best professional singers require
humid settings to help them achieve the right pitch. "When your vocal cords are really dry,
they're a little less elastic,” says Caleb Everett, an anthropological linguist at the
University of Miami. As a result, singers experience tiny variations in pitch, called jitter,
as well as wavering volume-- both of which contribute to rougher refrains.

If the amount of moisture in the air influences musical pitch, Everett wondered, has
that translated into the development of fewer tonal languages in arid locations? Tonal
languages, such as Mandarin Chinese and Cherokee, rely on variations in pitch to
differentiate meaning: the same syllable spoken at a higher pitch can specify a different
word if spoken at a lower pitch or in a rising or falling tone.

In a survey of more than 3,700 languages, Everett and his collaborators found that
those with complex tones do indeed occur less frequently in dry areas than they do in
humid ones, even after accounting for the clustering of related languages. For instance,
more than half of the hundreds of languages spoken in tropical sub-Saharan locations
feature complex tones, whereas none of the two dozen languages in the Sahara do.

Overall only one in 30 complex tonal languages flourished in dry areas; one in three
nontonal languages cropped up in those same regions.

Those conclusions run counter to a traditional linguistic view that the structure of
language is independent of its environment, says Robert Ladd, a linguistics researcher at
the University of Edinburgh. To bolster the Miami group's findings, researchers in the



46.

47.

48.

49.

50.

field will need to prove that tonal languages require a precise control of pitch.

What is the main purpose of this passage?

(A) The best opera singers require humid settings to perform.
(B) The amount of moisture in the air influences musical pitch.
(C) Humid locales foster languages with more complex tones.
(D) The structure of language is independent of its environment.
How can humid settings help opera singers achieve the right pitch?
(A) Singers have more elastic vocal cords.

(B) Singers feel tiny variations in pitch.

(C) Singers experience wavering volume.

(D) Singers make refrains more roughly.

What does pitch distinguish in tonal languages?

(A) Phonemes

(B) Consonants

(C) Vowels

(D) Words

Which of the following locations can be inferred to develop fewer tonal languages?

(A) Desert

(B) Rainforest

(C) Savanna

(D) Wetland

Which word has the closest meaning to the underlined word “bolster”?
(A) Explore

(B) Support

(C) Generalize

(D) Undermine



